*
IR HeT Gl TR ZH I o IR Sie &t areR feve |

Without opening the Paper seal take out Answer Sheet
from this side.

-
e H1 99 ; 2024
MOE % Y -feqeRT

- S Te-gRas gt
(A 6 AR ford
=i # A

BT HATHE /Shef Saietell Uel W 3189
Hotel Management/Catering Technology & General Studies

q74 : 02:00 T Time : 02:00 Hours
: 150 Maximum Marks : 150
it

=

10.

11.

12.

13.

14.

Tl % W AV U A T R M Emm A g o |
ey Ry

FIA-IEqHT & FR U R ATHATE & Afdies g8 7 foad |

T Tt oot ¥ fomlt e <t RIS FgoT a1 e e oY A TR o SBIS ot fomlt TR # ¥ SIS SRR Rl AFS WA STRAT |

[t Tvl & R T E |

AT ST AT, FIT-HIe T T -YRIHT T HIKIST A1 3T OMR Answer Sheet # FfSE wiem & wdt-agt =, sm=aan

JW-U=% T Godich Tl fehel & |

%ﬁw%gmw-g%m (FHote) & o & fed T g8t = @ Fad ST R | oW § 3@ eg afdn ste uwsy &b
|

=0 FeA-gEqH H 150 T (IEgie wwR) T | e am-1 (e fewe /heftn 2eieis) |§ 80 U, WRT-2 (VR e,

STRRGVE T4 | Halerd AT [H Us 9= gig wliern) 8 70 994 8 | T Y9 & 9K doh(edsh SR, U & 714 (a), (b), (¢) T@

(@) A @ E | = 9R A Faot Tk & w9 SR ¢ | o S R we a1 e Sfua qeE €, SIR-wEe (3NLTHL AR, 3R

sfie) # SHH AER AT 99 N Pl AT Aol STl WIEe YT & T HieAT /el IR S |

oA -gfETeRT # 3ifeRa Tt e HAfET § R T U F W 3 § | S T SR EE B, S % SIgER o felr S |

AR GRT AT B T aTelt aeqiss Uhfa hii ademst § FoncHs iR (Negative Marking) Tgfd Stom SRR |

el gRT S W9 e U U Ted I & fau an svrff g1 Us ue & us ¥ ofYe S e & fou (I fer o ew |

Y TH FE B M AR, 38 U & fay faffa siwl w1 tE-gE Tve % 9§ S ST | gUS WEY YT 3l & I i

F YT | € HeAT ST |

AT gRT THI STR el 1. TH.IR. -5 (OMR Answer Sheet) T & o S stffemd @ | . w03k, STR-=i% &

srfafeaa s gl W fean o SR 7 2 e |

AR, IR-T9F R F8 e & 79 390 o ™ asft seeii &1 dagrids g o | TR, IW-T=F § aited

IS T AW GRT OET W B 8§ & R S e € |

AR, SR-9A o Ife@t (3 vy, wafea wfa wa sl wfa) & @ | when awfa & Swma sveff o . aR. SwR-

T 6 AW AT @ A Al sRiEs® (Invigilator) ST ST WA o SYURT € & Bis | I i Rl § s gr

TraTgaR wraTE B SISl | SR, SWR-TEE 6 et wi, sl s /e o ST Eed € |

Ife s 37 e w1 ug fomm R, awwmmaﬁﬁm%aﬁisﬁwm IR-YF% R A ga

W& F, O a9 a G o, T q AT -G dert B g Fer i |

31.TA.AR, IJR-7F (O.M.R. Answer Sheet) T T ALTA.IAR, 3R e R 39320 gRT sifeha TRIS H (A, B, C, D) & MR

wR & T ST |

97-9fET (Question Booklet) # # 3I.TH.HR. SWR-9=F (O.M.R. Answer Sheet) e & Te=Tq 1. TH. AR, SW-TF T

W -QfEqeRT ST TS Te-YfETehT & S #IE (A, B, C, D) i ufafd araurfids i | afs sFamer sefawt 78 & 9t 8, @

a% fou szedi @ fdier emm |

| ST s AVE W AE-JRE R AE | |

Hewq : WK @i TR qed Wi 9% o@ o T we-giete % vl 3w welt-wife eY gu ¥ | afe gw-gieen dieeg 7 @

AT WIS ST HHI §, AT FNEH Bl @R I WIS h GEG AT - W R A |



10.

11.

12.

13.

14.

PART -1
Hotel Management/Catering Technology

In packaged drinking water RO stands for
(a) Reverse Osmosis (b) River Osmosis (c) Reverse Odonosis (d) Real Odonosis

Which of the following is not a type of Fancy Napkin Folding for dining ?
(a) The Rose Fold

(b) The Fancy Silverware Pouch with Candle Fold

(c) The Cone

(d) The Foot Fold

Which one of the following is not a glassware ?
(a) Champagne Tulip (b) Beer Goblet (c) Consomme Tulip (d) Club Goblet

and are the two major areas of Catering in Railways.
(a) Terminal Catering & In-transit Catering (b) Onboard & Outdoor Catering
(c) Railway & Rest-house Catering (d) IRCTC & Indian Railways

75 different herbs are used in the making of liqueur.
(a) Chartreuse (b) Benedictine (¢) Glayua (d) Lochan Ora

is made up of 50% china-clay, 25% quartz and 25% feldspar.
(a) Earthenware (b) Bonechina (c) Porcelain (d) Stoneware

Menu card for round the clock service, offering all the dishes of Breakfast, lunch, snacks,
dinner and beverages is known as :
(a) Crew menu (b) California menu (c) Diet menu (d) Function menu

Dishes are displayed on revolving shelf for customers to help themselves is known as
service.

(a) Counter (b) Echelon (c) Buffet (d) Carousel

ABC Restaurant has 100 covers and seat turnover during lunch is 0.7 and during dinner is
2.0 times. Time taken for laundry delivery for clean linen is 2 clear days. Calculate the
number of napkins required in the restaurant.

(a) 970 (b) 200 (c) 270 (d) 810
Glenlivet Whiskey comes from region of Scotland.

(a) Highland (b) Lowland (c) Campbeltown (d) Islay
Irish stew is an example of course.

(a) Sorbet (b) Entrée (c) Releve (d) Roti
Cognac with VSOP on the label indicates ageing of minimum of

(a) One year & Six months (b) Two years & Six months

(c) Three years & Six months (d) Four year & Six months

Sherry is produced in :
(a) Sicily (b) France (c) Spain (d) Portugal

Which one of the following Fork is laid as part of an Afternoon tea cover ?
(a) Dessert Fork (b) Fish Fork (c) Small Fork (d) Pastry Fork
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15.  Which of the following records all transactions between the hotel & the guest ?
(a) Folio (b) Ledger (c) Voucher (d) Guest A/c

16. M.A.P. (Plan) is also known as :
(a) Half Board Plan (b) En Pension Plan (c¢) Full Board Plan  (d) Continental Plan

17. Which of the following is not an example of Mechanical Cleaning Equipment in Hotel
Housekeeping ?

(a) Scrubbing Machine (b) Vacuum Cleaner
(c) Box Sweepers (d) Buffing Machine
18. Select other name of Whitney slip from the options given below :
(a) Shannonslip (b) Whit slip (c) Sher slip (d) Kennon slip

19. Which of the following is not an example of Woven Carpet ?
(a) Wilton Carpet (b) Axminster Carpet (c¢) Tufted Carpet (d) Oriental Carpet

20. A credit limit established by a hotel is known as :

(a) House limit (b) Outstanding limit (c¢) Floor limit (d) Ceiling
21. The primitive lodging houses in Spain were known as :
(a) Pousados (b) Cabarets (c) Paradors (d) Phatnal

22. A package offered by a resort includes the cost of breakfast and either lunch or dinner in the
room charge. This arrangement is called :

(a) European Plan (b) Continental Plan

(c) American Plan (d) Modified American Plan
23. Cash disbursed by Front Office on behalf of the guest is known as :

(a) Encashment (b) Transfer (c) Paid-out (d) IOU
24, is a transparent, lustrous and brittle material made from silica or sand.

(a) Ceramics (b) Glass (c) Silver (d) Plastic
25. One Foot Candle = lux.

(a) 11.76 (b) 12.76 (c) 13.76 (d) 10.76
26. Tea stain can be removed with the help of :

(a) Borax Solution (b) Potassium Permanganate

(¢) Sodium Hypochlorite (d) Glycerine
27. Purple, Orange and Green are colours.

(a) Primary (b) Secondary (c) Intermediate (d) Munsell

28. The process of checking that the day’s transactions are correct and complete is called :
(a) Inventory (b) Credit Monitoring (c¢) Transcripting (d) Night Audit

29. A very graceful style of S-shaped flower arrangement in a tall container is called as :

(a) Hogarth (b) Hikae (c) Moribana (d) Ikebana

30. Which of the following determines the texture of a baked product, e.g. cookies, crackers and
pastries ?
(a) Penetrometer (b) Tensile strength (c¢) Shortometer (d) Compressimeter

31. Steaming of rice in the husk before milling so that B-complex vitamins diffuse from the
husk and bran into the grain is known as :
(a) Food processing (b) Polymerization  (c) Putrefaction (d) Parboiling
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Which diet is prescribed for individuals suffering from gastric or duodenal ulcers, gastritis
and ulcerative colitis ?

(a) Pureed Diet  (b) Bland Diet (c) Weaning (d) Low-residue diet
In order to caramelize sugar, to what temperature it is heated ?

(a) 130to 140°C (b) 50 to 60° C (c) 70to 80°C (d) 163to177°C
Waste water from different sources like Bathrooms, kitchen and washbasin is called as :
(a) Sewage (b) Garbage (c) Sullage (d) Discharge

The word ‘Hygiene’ is derived from Hygeia, which means :

(a) Purity (b) Living Well (c) Being Neat (d) Sacred

Slice of bread with 1 gm of fat, 10 gm of carbohydrates and 2 gm of protein contains

(a) 42 kcal (b) 57 kcal (c) 82 kcal (d) 102 kcal

The AGMARK standard is set by :

(a) Central Committee for Food Surveillance
(b) Central Committee for Food Standards
(c) Directorate of Marketing and Inspection
(d) Bureau of Indian Standards

Organisms that grow over a wide range of pH are :

(a) Bacteria (b) Yeast
(c) Thermophilic Anaerobes (d) Molds
make up the major components of Fats, Butter, Shortening and Oil.
(a) Compounds (b) Composites (c) Sphingolipids (d) Triglycerides

A diet which provides all essential nutrients in correct proportion is called :
(a) Complete diet (b) Adequate diet (c) Balanced diet (d) Therapeutic diet

The Guideline stating the amount of nutrients to be actually consumed in order to meet the
bodily requirements is called :

(a) RDA (b) SDA (c) NDA (d) BDA
Feeling of satisfaction and fullness and not feeling hungry till the next meal is called :
(a) Bulimia (b) Weaning (c) Anorexia (d) Satiety Value

For chemical sanitization the quantity of lodine added to one gallon of water is :
(a) Yaoz (b) %oz (c) %oz (d) 1oz

Milk fat is minimum in :
(a) Cow’s milk (b) Buffalo’s milk (c) Standardized milk (d) Double toned milk

The headquarters of PATA is situated in which of the following city ?

(a) Bangkok (b) Sydney (c) Singapore (d) Paris
Marketing Mix comprises of 4 ‘P’. Which of the following P is not correct in context of above ?
(a) Price (b) Product (c) Planning (d) Promotion

A type of tourist who seeks novelty at all costs even at discomfort and danger and prefers to
be part of a community to study the behaviour and culture of local people is known as :
(a) Allocentric (b) Midcentric (c) Psychocentric (d) Drifter

According to Maslow’s need hierarchy theory, which of the following sequence is correct ?
(a) Physiological, Safety, Social, Esteem, Self-actualization
(b) Safety, Social, Esteem, Physiological, Self-actualization
(c) Self-actualization, Safety, Esteem, Social, Physiological
(d) Physiological, Safety, Esteem, Social, Self-actualization
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49. A technique used to promote a product at locations where it is sold is known as :

(a) Premiums (b) P-O-P Displays

(c) Ambient Advertising (d) Sweepstakes
50. Quality control circles originated in :

(a) America (b) Britain (c) Japan (d) India
51. Grapevine is a type of :

(a) Informal Communication (b) Formal Communication

(c) Written Communication (d) Pictorial Communication

52. Full form of TAAI is :
(a) Travelling Agents Association of India (b) Travel Agents Association of India

(c) Tour Agents Association of India (d) Tourism Association Agents of India

53. Inwhich year the Jha Committee recommended the role of public sector in tourism promotion ?
(a) 1963 (b) 1961 (c) 1962 (d) 1960

54. “A Foreign tourist in India visits Haridwar to take active part in ‘Maha Aarti’.” It is an
example of :

(a) Rural Tourism (b) Cultural Tourism (c¢) Ethnic Tourism  (d) Wellness Tourism

55. ‘Pay Back Period’ means :
(a) Period in which payment is to be made
(b) Period in which payment is received
(c) Period in which amount of initial investment is recovered
(d) None of these

56. Capital Budgeting is a part of :
(a) Investment Decision (b) Marketing Management
(c) Working Capital Management (d) Capital Structure

57. Increase in amount of Bills payable results in :
(a) Increase in cash (b) Decrease in cash (¢) No change in cash (d) None of these

58. Which of the following is NOT a determinant of working capital ?
(a) Production techniques (b) Production cycle
(c) Depreciation policy (d) Tax policy

59. Which is the real account in the following ?
(a) Salary account (b) Drawings account (¢) Debtors account (d) Furniture account

60. Who appoints the internal auditor ?

(a) Proprietors (b) Management (c) Govt. (d) All of these
61. Sale of long-term investments indicates :

(a) Sources of funds (b) Application of funds

(c¢) Funds from operation (d) None of these

62. The accounting equation implies that :
(a) Assets = Liabilities — Owner equity  (b) Assets = Liabilities
(c) Assets = Liabilities + Owner equity  (d) None of these

63. Which of the following is not the component of finance function ?
(a) Investment decision (b) Finance decision
(c) Decision regarding setting up a business(d) Dividend decision

64. The ratios provide important information regarding long term operation of the firm.
(a) Liquidity (b) Activity (c) Solvency (d) Profitability
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Fraferfiga & = o1 arafas @@ ? ?

(a) o @ (b) SATET @I (c) TR @ral (d) eTeR @Tarn
3T 37ehersh fepereh g frrgert fopa ST 2 2

(a) W H G (b) T & gH (c) TR P g (d) 39 T aft
dreienTioreh Tt b1 farsha 3 ohar 2

(a) DN HIHET  (b) WM HBIIWN  (c) INECHADN  (d) FTH U I &l
TR G Bl

(a) TR = gIRIca — EaTited |l (b) TR =g
(¢) T = eTfred + Tafired Gwar (d) 3T 9§ g T
feaffea g a s e s w1 3m A R 7

(a) Tafem fof ORESRELE]

(¢) SHTHT TATIUA A T i (d) e ot

. JTUTA WH o Srefehifeteh TETe o SR § Hgeaqul SR JeH Hid & |

(a) AT (b) fsramsfieran ORUEEEE (d) SRR




65. Braising is a cooking method, using the following process :
(a) Direct Heat (b) Roasting and stewing
(c) Cooking without vegetable (d) Simmering in small amount of water/stock

66. Fish stock should be ideally cooked for how much time ?
(a) Twenty minutes (b) Thirty minutes (c) Forty minutes (d) Ten minutes

67. Modak is a sweet dish from which of the following states ?
(a) Rajasthan (b) Gujarat (c) Maharashtra (d) Madhya Pradesh

68. The cuisine of northern China is known as
(a) Pekingstyle (b) Cantonese style (c) Szechwanstyle (d) Fukein style

69. Which of the following is not a basic sponge cake ?

(a) Genoise (b) Chiffon cake (c) Angel food cake (d) Gateaux
70. Salsa is a famous dish from which of the following countries ?

(a) Mexico (b) Greece (c) Iran (d) Germany
71. Frankfurters are popular sausages from which of the following country ?

(a) Germany (b) Hungary (c) Italy (d) Poland
72. Cheddar is a cooking cheese from which of the following countries ?

(a) Italy (b) Switzerland (c) France (d) England
73. In butter-icing, the proportion of butter and sugar is :

(@) 1:2 (b) 2:1 (c) 1:3 (d 1:1
74. Pooran Masala comes from which State ?

(a) Punjab (b) Rajasthan (c) Maharashtra (d) Bengal
75. are responsible for all baked products, such as bread, breakfast roll etc.

(a) Entremetier (b) Rotisseurs (¢) Tournants (d) Boulangers

76. Tiramisu is a popular dessert from which of the following countries ?

(a) France (b) Italy (c) England (d) Greece
77. Herbal arrangement of dried herbs used as perfume for environment is called as :

(a) Kewda (b) Pot Pourri (c) Sabayon (d) Bouquet Garni
78. Which of the following is not a part of Chef Garde Manger’s job ?

(a) Butchery (b) Pastry Making

(c) Hors-d’oeuvre making (d) Salad making
79. Middle east countries produce which group of breads ?

(a) Focaccia, Ciabatta, Biova (b) Lavash, Pita, Khoubiz

(c) Cob, Pikelet, Danish (d) Pretzel, Zope, Stollen
80. Who is the overall incharge of the staff team in dining room ?

(a) Maitre d’ hotel (b) Maitre d’ hotel de Carre

(c) Chefde Rang (d) Debarrasseur
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65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

Sfsm, @1 S B i fafyr S afsrn g 2

(a) HY IFETW (b) Tfem 3R feessn

OREREESIEREIE (d) 0 gt AT Wik | it 31T W g

oheT Tieh =1 3TTest ®9 F fohad U doh TshMT AT(RY ?

(a) 9 fiFe (b) g fime (c) =Teh® fie (d) gafime

Hiceh, Ueh i i et Mfaiga d A fera =g 9 ?

(a) T (b) TSHTA (c) WERTE (d) HeA e

I} < < UTehehed FHE @R |

(a) MhMREA (b)) FRHEREA (o) HEaHwEa  (d) Bl wra

= 0 @ e @ afes WS S TE R 7

(a) SHIZE (b) Tl (c) TIA FE heh (d) TTTa

areran Freferfiaa esni & @ el o1 Iftg s /e @ 7

(a) BfFar (b) T= (c) S (d) St

herwtet, T 1 9 form <1 o1 TR TEw B 7

(a) ST (b) & (c) seett (d) diete

Jer f= 1 @ forg <31 ® @HT 9 | T BN Ao =i R 7

(a) seeft (b) feaeseie (c) W™ (d) wefs

T ST | §eT/TaRge qT SR IR 1 TIITd FI1 8 7

(a) 1:2 (b) 2:1 (c) 1:3 d 1:1

TIOT HETeAT fohd TS | AT 8 ?

(a) TS (b) TSTEH (c) HWENTY (d) s

YIS IS I Fg, A1YaT Ued geaTte o fore e g 2 |

(a) TR (b) UdreR (c) 2= (d) SR

frofrg frda frm em w afrg e @ 7

(2) T (b) seett (c) 8 (d) I

AT § GG b ol FEAHTE <hl T ATel! FE 69 1 TIect! (STaTT) hl R Had & 7

(a) hergl (b) wie-uid (c) T (d) b A

e o @ B T T A TS WIS hT A B ?

(a) T (b) & ST (c) IS FHAT  (d) HATG ST
. T <N HH | S TG BT IATE B & 7

(a) Shiehiaa, Tommarer, faster (b) &, didr, Gl

(c) =i, fufefera, grfam (d) oI, ST, Wi

. SRMTEAd @ dm R aqu gq hH gl 8 ?

() T BRASHR (o) AHSA (@ e
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81.

82.

83.

84.

8S.

86.

87.

88.

89.

90.

91.

92.

93.

PART -2
General Studies

A solution reacts with crushed egg shell to give a gas that turns lime water milky. The
solution contains :

(a) HC! (b) NaCl (c) LiC/ (d) KCI

Which of the following device uses positional notation to represent a decimal number ?
(a) Pascaline (b) Abacus (c) Computer (d) Calculator
Under which plan the Constituent Assembly was constituted in November 1946 ?

(a) Cripps Proposal (b) Simon Commission Report

(c) Cabinet Mission Plan (d) Wavell Plan

Which Articles of the Indian Constitution deal with the ‘Right to Equality’ ?

(a) Articles 13to 18 (b) Articles 15to 18

(c) Articles 14 to 18 (d) Articles 16to 18

From which country the emergency provisions of the Constitution of India has been
borrowed ?

(a) American Constitution (b) Irish Constitution

(c) German Constitution (d) Government of India Act

Which option among the following is not included in the basic elements of Rural
Development in India ?

(a) Basic Necessities of Life (b) Self respect

(c) Freedom (d) Slum Area Rehabilitation

The ‘Tropic of Cancer’ passes through how many of the following states of India ?
(a) 6 (b) 7 (c) 8 (d) 9

Which one of the following is the well known mountain peak of Punjab Himalaya ?
(a) Deotibba (b) Gaurishankar (¢) Chumalhari (d) Narsing

Which one of the following coalfields is not a part of Jharkhand state ?
(a) Huter (b) Auranga (c) Jhagrakhand (d) Rajmabhal

Bailadila is known for which one of the following minerals ?
(a) Copper (b) Iron Ore (c) Zinc (d) Manganese

Which one of the following is the lowest elevation mountain peak of the Garhwal Himalayas
in Uttarakhand ?

(a) Dunagiri (b) Trishul (c) Bhrigupanth (d) Srikanth

Which one of the following options represents the approximate length of Bhagirathi river
from Gaumukh to Devprayag ?
(a) 105 Km (b) 210 Km (c¢) 195 Km (d) 205 Km

Which one of the following is the name of both a Glacier and a Pass ?
(a) Kafani (b) Khatling (c) Maiktoli (d) Milam
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82.

83.

84.

8S.

86.

87.

88.

89.

90.

91.

92.

AT — 2
AT 1A
s faeTa 370e o fUf g0 Fa= § HATHIRAT T Teh 719 Icq~1 Ldl & S = o T ol el oh
TaT? | gE faera R

(a) HCI (b) NaCl (c) LiCl (d) KCI
frafafiaa ° 9 19 91 Iushur cxmete S eni A & foru fRrdie gehd &1 ST s g ¢
(a) UTEhATE (b) HASHT (c) HIX (d) HepareX

TorT ST o 3TaTTd TR 1946 T TiAe T4 o1 T fomam T 7
(a) PO T=®  (b) HTEHA HHINE NI (¢) hise oM FisFT (d) ot T

I FTET o M & o6 HHMFAT o TR & qrf-ad 8 ?

(a) 3. 13918 (b) 3. 159 18 (c) 3. 14918 (d) 3. 169 18

TR ST % STTaTdenTen e fhg eor & ferg o @ ¢

(a) IR Efaa™ (b) AT AT (¢) THA Gige™ (d) R e iy

frefariad & @ o |1 us v o T foshra o STeRd a § wnfte T8 § 7

(a) SIS 1 TR HTELIHAT] (b) ITH-HM

ORSEEN (d) =fer & gata

heh 1T WA o Teferfiga o & fee Tsal & grent Toret 8 7

(a) 6 (b) 7 (c) 8 (d) 9
frfarfiga & & 19 @1 v g feHTera 1 TeaTa vdda e g ¢

(a) cafess OIRUEER (c) THTEERI (d) e
frferiga § & o6 91 T Siger & SEvs TSy 1 fFe TEi ? 2

(a) BX (b) 3Tram (c) TREUS (d) TSHEA
Setfeen Frefafaa @i @ @ frg we & fau s smar g 2

(a) dfan (b) TIg 3TTEh OREES (d) Tre
fraferiaa & @ i o1 T STtRave & TeaTe fEHer 1 feaw g 1 ved e R 7
(a) (b) Freret (c) Y9 (d) #fepvs

frfarRaa foeredi ® 9 iF a1 U wfieelt 7t 6 7@ | STy deh h ST TFaITs i Savid
HATR ?
(a) 105 Km (b) 210 Km (c) 195 Km (d) 205 Km

. Trefefga 5 @ % 1w fene sikgi qRi T i am @ 2

(a) SHIHAT (b) EdfetT (c) Tepalct! (d) forem
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94.

9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

10s.

106.

Uttarakhand Space Application Centre was established in which year ?
(a) in 2000 (b) in 2007 (c) 1n2004 (d) in 2005

Which option among the following is correct regarding ‘One District One Product’
(ODOP) ?

(a) To select the product (b) To brand the product
(c¢) To promote the product / service (d) All of these

Which agriculture sector is known as ‘Sun rise Sector’ ?

(a) Food Production (b) Vegetable Production
(c) Fruit Production (d) Food Processing

Which one among the following is an acrobatic folk dance performed by men only ?
(a) Langvir (b) Jhoda (c) Chhopeli (d) Chanchari

Who among the following has given a detailed description of the diet of the people of
Jaunsar-Bawar ?
(@) M.N. Sriniwas (b) D.N. Majumdar (c) K.S. Valdiya (d) Shiv Prasad Dabral

The famous Hindu holy temple ‘Dhyan Badri’ is situated in which district of Uttarakhand ?
(a) Rudraprayag (b) Chamoli (c) Uttarkashi (d) Tehri Garhwal

Vishnu Prayag in Uttarakhand is situated at the confluence of which of the two rivers among
the following ?

(a) Dhauliganga and Vishnuganga (b) Mandakini and Pinder

(c) Dhauliganga and Alaknanda (d) Alaknanda and Mandakini

According to census 2011, which district had the lowest population in Uttarakhand ?
(a) Rudra Prayag (b) Bageshwar (c) Champawat (d) Chamoli

Askot Wild Life Sanctuary is situated in which district of Uttarakhand ?
(a) Bageshwar (b) Nainital (c) Pithoragarh (d) Chamoli

Which Chief Minister of Uttarakhand among the following reserved 50% seats in
Panchayats for women ?

(a) N.D. Tiwari (b) Bhagat Singh Koshyari

(c¢) B.C. Khanduri (d) Harish Rawat

Who among the following was appointed as the Chairman of the Uttrakhand Human Rights
Commission in January 2020 ?

(a) Surendra Singh Jeena (b) Justice V.K. Bist

(c) Justice Sudhanshu Dhulia (d) Badri Dutt Pandey
Who among the following was the first Governor of Uttarakhand State ?
(a) Baby Rani Maurya (b) Surjeet Singh Barnala
(c) Mala Rajya Laxmi Shah (d) Gurmeet Singh

In which district of Uttarakhand, The Uttarakhand Academy of Administration is situated ?
(a) Nainital (b) Mussoorie (c) Dehradun (d) Haridwar
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94, ITATEUS AN TN heg; b1 T fAfeTRaa & & fopm o g8 oft 7

(a) 2000 H (b) 2007 T (c) 2004 (d) 2005
95. “Teh foT-Teh 3cure’ & IR H i feg U fospedi A A hR AT U TE1 2 7

(a) 3cITE T IIT (b) IcdTE i SIS

(c) 3CUTE/HT 1 HT FGHI (d) F @t
96. ThI 1 DY & AT I & (T TS HeFeX) o A9 | T JAT 7 7

(a) @RIIAET  (b) Tesll IcuTeH (c) A 3T (d) G JEEhT
97. TfcIRad o | B 91 T TIEG AT & Sl shael Tesl o G [ohdl ST & 7

(a) TTER (b) =S (c) =t (d) ==l

98. frmfciRad o | FopEe SHER-STaR & @1 % HATER 1 forqa o feam ?
(a) TH.GA. @™ (b) .. TR () .TH. afeean (d) TIrerETe sate

99. Tawg o o1 WiHg 9wl ‘o St Hict ITrEve o fohe et o srafera 2 2

(a) BEIATT (b) =HIA (c) AT (d) feah eara
100. ITrRgvg | fosuy s frrferfaa & @ fopa g1 afean & o w srafma 2 2
(a) SR SR fersopmm (b) werfer 3R fifet
(c) HIATTT 3R FHeTeheT (d) ST 3R HeTfR
101. 2011 3l SHTUAT & AR F=feifaa § & Iau@ve o fohd ol § Te8 1 SHEE gl 61 78 ?
(a) BgTATT (b) TR (c) =uTEad (d) =Hreft
102. ‘ITEHIE TSI ITHINTY' ITEUS o fohd forel 1 safRa & 7
(a) SHITE (b) (c) TuemrTe (d) =T

103. ¥ & § ITUEUE % fohd F@HN = Afgctati < foIe w=mrdi 5 50% T TRfed fohy ?
(a) I fEadt (b)) wafEHea  (¢) .4 gl (d) & Tad

104. SHERI 2020 T ITARGUS HHATIR TR 61 376987 fopat Fegar fopam o 7
(a) Gt foe S (b) =manefier .. fam
(c) =reefs gere gfer (d) Sgtex dTvey

105. = o 9 1 3TUETS TST & 98 TsI9Td & 7
(a) SN T AT (b) gl fig s (¢) e Usaetet wrg (d) Tt fig

106. ‘IARGUS TeheH! 31 TSHfsH’ Saur@ves o ford el o srafra g 2
(a) e (®) @ ®g @ e
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107. Which one of the following International meeting was held during 28" to 30™ March, 2023
at Ramnagar in Uttarakhand State ?
(a) G-20 Chief Science Advisers Round Table Meeting.
(b) G-20 Global Meeting for Trade.
(c) G-20 Global Meeting for Pollution Control.
(d) Global Meeting for Environment Protection.

108. Who among the following was appointed as the first ‘Chief of Defence Staff” (CDS) ?
(a) General Manekshaw (b) General Bipin Rawat
(¢) General B.C. Khanduri (d) General A K. Chauhan

109. ‘Chardham Devasthanam Board’ has been constituted for the management of which one of
the following Clusters of Temples ?
(a) Badrinath, Kedarnath, Gangotri, Yamunotri
(b) Surkanda, Kunjapuri, Chandravadni, Kedarnath
(¢) Kunjapuri, Kedarnath, Gangotri, Surkanda
(d) Chandi Devi, Chandravadni, Gangotri, Yamunotri

110. Which Municipal Corporation has launched the drive ‘Plastic Lao, Mask le Jao’, in
Uttrakhand State ?
(a) Udham Singh Nagar Municipal Corporation
(b) Haldwani Municipal Corporation
(c) Haridwar Municipal Corporation
(d) Dehradun Municipal Corporation

111. Which summit was held at FRI in Dehradun on 8 and 9" December 2023 ?
(a) Global Commercial Meeting (b) Global Investors Summit
(c) World Environmental Summit (d) Global Water Summit

112. Who among the following is known as the founder of ‘Maiti Movement’ and awarded with
‘Padma Shri’ in the year 2020 ?

(a) Kalyan Singh Rawat (b) Sundarlal Bahuguna
(c¢) Chandi Prasad Bhatt (d) Anil Prakash Joshi
113. On which date the Revenue Policing System was abolished in the State of Uttarakhand ?
(a) 15™ August, 2022 (b) 02" October, 2022
(c) 02" January, 2023 (d) 26™ January, 2023

114. ‘SVAMITVA’ Scheme (Survey of Villages and Mapping with Improvised Technology in
Village Area) is a scheme of which sector among the following ?

(a) State Sector (b) Central Sector
(c¢) Local Government (d) Non-Governmental Organisation
115. The National Career Service (NCS) project was launched in which year ?
(a) July 2015 (b) July 2016 (c) July 2017 (d) July 2018
116. In which year the ‘Pradhan Mantri Fasal Bima Yojana, (PMFBY') was launched ?
(a) 2015 (b) 2016 (c) 2017 (d) 2018
117. Study the given pattern carefully and select the number that can replace the question mark
(?)init
9 | 8|7
6 | 7| 8
4 |51 3
50| 7 |53
(a) 61 (b) 52 (c) 51 (d) 47
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108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

Frafafaa saridia T el @ 9 1 T 28 T 30 |, 2023 & S ITETS U9 & THAR
T et fepam mam ¢

(a) S-20 % HEH Tearsad U3 o Hifen

(b) Sfi-20 Tefee Hifdn s g

(c) St-20 TEe Hifém B TiegyH hela

(d) TeNES HifeT B THIRRATE JieRH

Frefetfaa © 9 fopdt uw =i 31 feha W%’ (CDS) e foham o 7

(a) S A I (b) SRS WA TEd  (¢) SR sL&. TEd (d) SR Toh. FEH
frefarfaa & @ for ufeti & g & Yaeq 2q TR IR 91’ W1 T4 fhan g 2

(a) G, HERATY, T, A (b) Grehel, FoMqll, FgaeH, herr

(c) YL, ShERAT, T, FLehel (d) TvEteet, TgaeHt, T, Tt

ITTEUE T H AL AT b of ST S b =IHTEUeT ShIaReH gRI 3% fohal T 7
(a) Suafeg TR AR HiameE (b) TegHt Fffue siaieH

(c) BNGR FHTEua HianeH (d) B R HIRIH
T, 3T.3TTS. GaUgd | 8 3TN 9 f@wa, 2023 1 &M &1 AHIeH g7 &1 7
(a) TS higiEe Hifdn (b) TS gaed Tfie

(c) e TIaTEHE gite (d) & d1eT gt

fraforRaa o @ s At arigier’ o1 STeh T STa @ et 9y 2020 | o uen o’ @ wumnfa
fepe 2

(a) oAU 88 TEd (b) il SgTON () TSIIHIG HE RS REINEEIN]
fopm feafr =61 SoREvE TR A Us9 § o it Srae’ sl FHT e feE ?

(a) 15 37T, 2022 (b) 02 TSR, 2022 (c) 02 Fadl, 2023 (d) 26 S, 2023
‘T ASHT (He 3T foeisist wog Afu foe srargse Saiais 34 faais ufan) fFafafaa
o frmaaHiasg ?

(a) T & (b) 4 & (c) TAT THR (d) -TTehr T
TR rTshifeest e (.5 .w. ) SRl o fha ad w1 e w7

(a) SETS2015  (b) SIS 2016 (c) e 2017 (d) JeTE 2018
“GuTEE BEd AT AT (f. . u. ) arE. ) form o ames < Rft ¢

(a) 2015 (b) 2016 (c) 2017 (d) 2018
e M wferew b1 e u¢ 3R siard fob Te e o Te W st wen et ¢
9 8 7
6 7 8
4 5 3
50 | 2 | 53
(a) 61 (b) 52 (c) 51 (d) 47




118. In the following question, select the related number from the given alternatives :
10001 : 10101 :: 101 : ?
(a) 11 (b) 100 (c) 201 (d) 121

119. If DANCE is coded as GXQZH then how will RIGHT be coded ?
(a) UFJEW (b) SGKFX (¢) UFIWE (d) UFWIJE

120. A mother told her son, “I was of your current age when you were born.” If the son was 16
years old five years ago, what is the current age of the mother ?

(a) 32 years (b) 38 years (c) 37 years (d) 42 years

121. How many triangles are there in the given figure ?

(a) 10 (b) 11 () 12 d) 13

122. Statements : Dogs have four legs.
Tables have four legs.
Conclusion : 1. Tables are dogs.
II. Dogs are tables.
(a) Only I follows (b) Only II follows
(c) Either I or II follows (d) Neither I nor II follows

123. Two different positions of the same dice are shown. Which number will be at the top if 3 is

WIS

(a) 1 (b) 2 (c) 5 (d) 6

124. If 50 minutes ago, it was 45 minutes past 4 o’clock, how many minutes is it until
6 o’clock ?
(a) 45 minutes (b) 15 minutes (c) 25 minutes (d) 35 minutes

125. A and B are brothers. E is the daughter of F. F is wife of B. What is the relation of E to A ?
(a) Sister (b) Daughter (c) Niece (d) Sister-in-law

126. Identify the diagram that best represents the relationship among the classes given below —
Government Servant, Lecturers, Doctors

oD wOE 09 o

Sl T iR




118.

119.

120.

121.

122.

123.

124.

125.

126.

frferfiga e o i T forsped o & wifua wen g
10001 : 10101 : : 101 : ?

(a) 11 (b) 100 (c) 201 (d) 121
Ife DANCE & GXQZH for@d g, a8 RIGHT ! ford TR forg Tend & 7
(a) UFJEW (b) SGKFX (c) UFIWE (d) UFWJE

TS AT 9 o T el ‘T Y I g A 79 H 9! gane 37 A oft |7 A w1 e we
g 16 DTt 1 AT 1 /T hl S0 AT FTR ?
(a) 329 (b) 389 (c) 379 (d) 429

<& A 3Rl | fohed By @ 7

(a) 10 (b) 11 ) 12 (d) 13

HUT: PABALNEA S |

ST IR WEA 8§ |
frepd 0 I A9, PR

. %, 38 |

(a) hael 1 STTET HLAT 7 | (b) e I1 STTET HIAT & |
(c) TN 13T 11 SATHTT AT R | (d) I3 E I STTHOT HLAT R |
T 1 a8 I g fafie feufor 6t quten man 7 | Afe @ 3 uE o e B W 9 S
heleh W shiH Ht we fewrh

(a) 1 (b) 2 ) 5 d) 6

Ife 50 fire Taet 4 It 45 e ST T T | 6 o1 B fope fome 9w E 7

(a) 45 fime (b) 15 fiFe (c) 25Te (d) 35fiFe
ABHIYER IE,FRTAZIF,BHIHE I EFAT RIS ?

(a) & (b) AT (c) wefisit (d) vt

e T3 Il ¥ ¥ %9 |1 3@ e 7 foeren J gE g eviar g ¢
TTHH] AR, AT, il

& »00 & W@
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131.

132.
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134.

13S.

136.

Which number will replace the question mark (?) in the following series :
0,1,1,3,2,7,3,13,4,21
(@) 7 (b) 2 (c) O (d) 3

Aman has an equal number of one, five, ten and twenty rupee bank notes, to make a total of
T 1,080. How many bank notes does Aman have in total ?

(a) 100 (b) 120 (c) 105 (d) 90

IfA+B>C+Dand A+D>B+C, then
(a) A>C (b C>A (c) D>A (d) None of these

Three of the following four are alike in some manner while one is different. Select the
different one.

(a) Nickel (b) Steel (c) Iron (d) Copper

Identify the number which is different from the rest :
(a) 515 (b) 875 (c) 380 (d) 876

Select the correct alternative for the series: ¢ _bba cab _ac _ab_ ac
(a) acbchb (b) bcach (c) abcbec (d) babcc

A walks 10 metres in front and 10 metres to the right. Then every time turning to his left, he
walks 5, 25 and 15 metres respectively. How far is he from his starting point ?

(a) 5 metres (b) 10 metres (c) 15 metres (d) 20 metres
A survey of 1000 persons with respect to their knowledge of Hindi (H), English (E) and

Sanskrit (S) is given below. What is the ratio of those who know all three languages to those
who do not know Sanskrit ?
o [

VAV

N

1 1 10 2
a) — b) — c) — d —
()9 ()10 ()17 ()11
The image of a clock in a mirror is seen as 3:15. What is right time ?
(a) 8:45 (b) 10:45 (c) 7:45 (d) 9:45

There are some benches in a classroom. If 4 students sit on each bench, then 3 benches are
left unoccupied. However, if 3 students sit on each bench, 3 students are left standing. How
many students are there in the class ?

(a) 36 (b) 48 () 56 (d) 64
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127.

128.

129.

130.

131.

132.

133.

134.

13S.

= @ I e § T e (2) 9 S WS H wE@ R ¢
0,1,1,3,2,2,3,13,4,21

(a) 7 (b) 2 () 0 (d) 3
3T U Teh, Ui, gH 3T i T3 & e SO 011 H g 1 {56 et T 1080 & | 370 o ™
Fol fepa A ?

(a) 100 (b) 120 (c) 105 (d) 90
IGEA+B>C+DIIRA+D>B+Caq

(@) A>C (b) C>A (c) D>A (d) ¥4 ¥ I8 A&

= fe T =R H | 4 Tl TE 9 thewH € Seie e = 7 | s s g |

(a) Tiepe (b) & (c) drat (d) HR

I G119 B S A 4 i R

(a) 515 (b) 875 (c) 380 (d) 876

Frafafaa soft & fo ot fosrea =T L

c bba cab _ac ab_ ac

(@) acbchb (b) bcach (c) abcbec (d) babcc

A, 10 HieX |- 6t 3T 3R fhT 10 Hiet grff 3R =eran & | TRt 5 IR 319 aRff 311 4ed g2 98
SHH: 5,25 3R 15 He FaTd1 8 | 319 98 310 TRAeh w0 § fham gt g ?
(a) 5 (b) 10X (c) 15X (d) 20X

&= (H), 3f (E) 3T T%hd (S) o 3 TH o d-edf H 1000 ST T Teh T80T 1 IO
= fean w3 | =t T TS 1 S aTet 3T HEhd ARl S ATl Sfal oh ST | 7

EH

| 10
@ 3 ®) 75 © = @ —

Ffe udt o o fopeft gdor 1 3015 femma e Aot e = 8 2
(a) 8:45 (b) 10:45 (c) 7:45 (d) 9:45

136. e H $B &9 & | AfE Tdh o F W 4 BT 9ad 7, 1 3 54 GIelt T A & | F(G Tk 59 W3
BHAISAE, A 3 BH TS &d & | el H Hod b B & 2
(a) 36 (b) 48 ) 56 (d) 64
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137. Pandavani is associated with whom of the following ?
(a) Folk singing drama style (b) A prosperous city of Aryavarta
(c) An ancient temple (d) A form of painting

138. Which lake among the following is spread over two Indian states ?
(a) Chilka (b) Lonar (c) Sambhar (d) Pulicat

139. Which Company among the following has developed the new Artificial Intelligence (A.I.)
tool, Chat GPT ?
(a) Crayon Al (b) Open Al (c) Sniper Al (d) Grammarly

140. Which country among the following has become the 31 member country of North Atlantic
Treaty Organisation (NATO) ?
(a) Georgia (b) Denmark (c) Finland (d) Macedonia

141. Which State among the following is associated with ‘Vajra Mushti Kalaga’, a form of
wrestling ?

(a) Andhra Pradesh(b) Karnataka (¢) Tamil Nadu (d) Kerala
142. Who among the following has been awarded with the Nobel Peace Prize 2023 ?

(a) Jon Fosse (b) Nargis Mohammadi

(c) Claudi Goldin (d) Katalin Kariko

143. Who among the following was the editor of the ‘New India ¢ and ‘Commonweal’ ?
(a) Annie Besant (b) Sarojini Naidu (c) Aruna Asaf Ali  (d) Margaret Cousins

144. Who among the following is associated with “Ryotwari” settlement of Madras ?

(a) Melcom (b) Metcalfe (c) Munro (d) Elphinstone
145. Who among the following was the first European to capture Goa from Bijapur Sultan ?

(a) Austin (b) Gemelli Careri  (c¢) VascodaGama (d) Albuquerque
146. The Moplah Rebellion started at which place ?

(a) Bengal (b) Bihar (c) Rajasthan (d) Malabar
147. The term ecology was first introduced by :

(a) Linnaeus (b) Heckel (¢) Odum (d) Tansley
148. Waggle dance in honeybees is a signal for :

(a) Protection from enemies (b) Communication

(c) Reproduction (d) Visiting the source of food
149. Thermal radiations are :

(a) Mechanical waves (b) Longitudinal waves

(c) Electromagnetic waves (d) Temperature waves

150. Which of the following gas has the highest thermal conductivity at the same temperature ?
(a) Oxygen (b) Nitrogen (c¢) Hydrogen (d) Carbon dioxide
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137.

138.

139.

140.

141.

142.

143.

144.

14S.

146.

147.

148.

149.

frerforRaa 4 9 fred yrearh gfRE 2 ?

(a) T T 1T At (b) ITFTE T Teh GHI~ TR

(c) T I Afex (d) Ta=rehett 1 T w9

frefafaa o @ @ = et v o < sl a6 Bl g5 R 7

(a) et (b) SHR (c) HMH (d) gefrhe

T i Flgur (TR, ) 39, = A&, F fowm F=fafea 5 & fem w0l g
frr TR ?

(a) SFAAT3ME  (b) I .38 (c) TIEW T3 (d) T
fraforRaa o @ 9 S0 steaiies afy @’ (NATO) &1 3197 ¢ S SH TR 7

(a) SfSIET (b) T (c) Treive (d) TEreifEn
frefariad & @ o a1 T TST $IAl o Th ©U TN HoArT F TR 7 7
(a) 3TTY TSI (b) HACH (c) TS (d)

FreforRaa & @ fordt et Nfd qEehR 2023 | oA fhaT T 8 2

(a) S B (b) fita TES (c) FAREI Miced  (d) eI HIfeh!
freferfiea o @ o Y sfean’ 3R i’ 1 HuTEs o 7

(a) TH ST (b) TR Ag (c) TR A Al (d) HIIE v
TETE % AR SSIeEd o |1 B T 53T 8 ?

(a) Hohig (b) HTHTH (c) g (d) TAfhEeA
SR Fea™ & TG 3l B STl TH JUTIRE i o7 ?

(a) AT (b) T B (c) STEhITEITHT (d) ST
Higer fogrg fohe wor w3 g3 7

(a) ST (b) feEr (c) TS"YH (d) HTATER

TehIeAToll wTee § g aRtfrd s

(a) fafr@s (b) THAA (c) 3eHA (d) Tt =

Y@ 1 AT JI Th Tohd @

(a) YA & S 7g (b) HIREG

(c) S 7 (d) WIS % &d WA 2q

i ferfertor &

(a) ITCrhT a0 (b) 3Tee aut (c) Togagmesdman (d) ardf= aat

. AE d9 ) = 1 @ w9 @ 19 h S Iretshdt 99l g ?

(a) TR (b) ATEESH (c) BTEEISH (d) TS STEIATFETIS
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